


@® (2a+ 3b)(2a-D)
® (2a+ 3b)(2a — 3b)

® (2a+ 9b)(2a - b)

@ (2a+ b)(2a - 3b)

@ (4a+ 3b)(a - 3b)




ohg (B AH [ Jebell ke 5 A2 Aol

|

H7]

:

2= r+36=(x+[ hx-12)

o e

o e



4.

o

O

rr

15 74%9

%

® 3x2+5x-2 @ 622+ 9x—6
@ 22— x— 10

3 622 4 x— 12
® 2x* +3x-2



6x2—x—2,4x> —4x -3, 2x2 4+ ax—2 7} x o] tigt A4S FEQ
Q52 M ), o 9 gHe FotE?

@ 9 @ 6 ® 3 @ -3 ® -9



6.  xof W OIAA] &2 fax+4 9 AL x+1 D W, a O] F2?

@1 @ 2 ® 3 @ 4 ® 5



7.

(x = 2y)(x - 2y - 3) - 10 QI5Efstd
(x=2y+m)(x=2y+n) &, mn 2] 727

@® -10 @ 3 ® 10 @ 2



@ 22 +4x+2=2(x+ )?

© 2-6x+9=(_ Jx-3)?

©® 3% +6x-9=3(x+3)(x-_)
@ 6x2-x-1=2x-[ DBx+1)
@ 2-Tx+10=(x-5)(x—- )

=
=%



O34 22 + ax + b 2 7, o]

Kelye]
j=Jau=

o

9.

sholat.

q_

o
=

a+b 2 Gk

,_ﬂ .
ld mm
%
o) =S
T
m uot
ol &k
= o
+ it
NaJRe]
[N
+ |
R 2
o
o =
Ko







11. A4S deZaoh® (v + 4 + 2x(y + 4) -8 =



12.

(x+1)(x+2)(x+3)(x+4) -8

x% = 5x + 8)(x% + 5x — 2)

@ ( )

@ (x® 4 5x—8)(x®> —5x+2)
® (x? 4+ 5x+4)(x* + 5x +2)
@ (x* +5x+8)(x* +5x+2)
® («?

x% 4+ 5x+ 8)(x* + 5x — 1)



13. ¥ +xy+x+yE dsEalsH?

O (x+y(1-x @ (x+y)(x-1)
® ()t O (-1

® (x-y)(x+1)



14.

x? —4y? +6x+ 9 & 4ol

Fotofet.

D
=%



15, 2 -2y +xy-2x—y+ 1 A5E3lotH?

D (x+2y-3)(x-y-1) @ (x+2y-1)(x-y-1)
® (x+2y-1)(x-y-2) @ (x-2y+1D)(x+y+1)
® (x+2y+1)(x—y+1)



16. a=2v2-4, b =3+ V2 W, a® - dab + 41> 9] FL-& Fstoi2h

=
=%



17. Ax® +36x+B= (2x+C)% oA &= A, B, C 9] = o14A?

@ 4 @ 9 ® 81 @ 90 ® 94



27

18. (a-b+3)%-(a+b+3)* S s

ot

@© -4b(a-3) @ —4a(b+3) ® -8b(a+3)

@ —da(b-3) ® —4b(a+3)



19.

the-e x - 81yt & A48 @ Zolek. of wf, [ grol erur
AFi%e] G Foha?

-8yt = (2 +[_ P+ - b

® 13 @ 15 ® 18 @ 20 ® 24



20. ohg A F 310 - 1 & Lpro] BolAlA shi= 7k o AL

O 2 @ 4 ® 5 @ 9 ® 10



